Gruppegennemsnit:

ja nej
kort 1.605 1.614
mellem 1.568 1.835
lang 1.726 1.941

Output:

Estimate Std. Error t value Pr(>|t])
(Intercept) 1.614 ©.131 12.339 0.000
sas_ansatja -0.009 0.159 -0.057 0.955
abstidmellem 0.221 ©.173 1.277 0.203
abstidlang 0.327 0.159 2.055 0.041
sas_ansatja:abstidmellem -0.258 0.206 -1.249 0.213
sas_ansatja:abstidlang -0.205 0.192 -1.070 0.286
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ja nej
kort 1.605 1.614
mellem 1.568 1.835
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Forste 6 observationer:

sas_ansat abstid konc
ja lang 26
ja lang 12
ja lang 83
ja mellem 36
ja lang 111
ja lang 18
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lkonc

.414973
.079181
.919078
.556303
.045323
.255273
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Fitted values
Im(lkonc ~ sas_ansat * abstid)
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